UML Class Diagram

BREAKTHROUGH!

#Met : bool
#Condition : str]

<<constructor>> ()

+GetCondition() : str]]

+GetMet() :
+SetCondition(NewCondition : str[])
+SetMet(NewValue : bool)

Lock

#Challenges : Challengel]

<<constructor>> ()

+AddChallenge(Condition : str(])
+CheckIfConditionMet( 1 : CardCollection) :
-ConvertConditionToString(C : str[]) : str
+GetChallengeMet(Pos : int) : bool
+GetLockDetails() : str

+GetLockSolved() : bool

+ vint
+SetChallengeMet(Pos : int, Value : bool)

Breakthrough

- : Lock
-Deck : CardCollection
-Discard : CardCollection
-GameOQver : bool

-Hand :

-Locks : Lock[]
-LockSolved : bool

-Sequence : CardCollection

<<constructor>> ()
-CheckIfLockChallengeMet() : bool
-CheckIfPlayerHasLost() : bool
-CreateStandardDeck()
-GetCardChoice() :
-GetCardFromDeck(CardChoice : int)
-GetChoice() : str
-GetDiscardOrPlayChoice() : str

- : Lock
-LoadGame(FileName: str) : bool
-LoadLocks()

-MoveCard(FromCollection: CardCollection, ToCollection: CardCollection, CardNumber: int) : int

-PlayCardToSequence(CardChoice: int)
+

-ProcessLockSolved()

-SetupCardCollectionFromGameFile(LineFromFile: str, CardCol : CardCollection)

-Setuplock(Line1: str, Line2: str)

Card

<<static>>
#Score :int

#CardNumber : int

tint

+i

<<constructor>> ()
+GetCardNumber() : int

+GetScore() @ int
+Process(Deck: CardCollection, Discard: CardCollection, Hand: CardCollection, Sequence: CardCollection, CurrentLock: Lock, Choice: str, CardChoice: int) : void

----------------------------------------------
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CardCollection

#Cards : Card(]
# . str

<<constructor>> (N : str)

+AddCard(C : card)
-CreateLineOfDashes(Size : int) : string
+GetCardDescriptionAt(X : int) : str
+GetCardDisplay() :
+GetCardNumberAt(X : int) : int
+GetName() : str
+GetNumberOfCards() : int

+RemoveCard(CardNumber : int) : Card
+

ToolCard

#Kit : char

#ToolType : char

#CardType : str

<<constructor>> (args : list)

<<constructor>> (args: list)
<<override>> + GetDescription() : str

<<override>> +GetDescription() : str
<<override>> +Process(Deck: CardCollection, Discard: CardCollection, Hand: CardCollection, Sequence: CardCollection, CurrentLock: Lock, Choice: str, CardChoice: int) : void
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